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it & HERXSH HAHE |[HEEde|puanzE|mAksaRE| YAREHES | LPAR5m3 | LPAR10m3 | LPHR20m3 [ LP#H X50m3
A:0~20m3 745.20 142.66 -6.13 -2.54 136.53
B:20~80m3 1,036.80 128.08 -6.13 -2.54 121.95
REHR  [C:80~200m3 1,209.60 125.92 -6.13 -2.54 119.79
GI D:200~500m3 1,857.60 122.68 -6.13 -2.54 116.55 2274 3.756 6.488 14,578
E:500~800m3 6,177.60 114.04 -6.13 -2.54 107.91
F:800m3~ 12,225.60 106.48 —6.13 -2.54 100.35
A:0~20m3 745.20 191.14 -30.45 -2.45 160.69
B:20~50m3 1,337.40 161.53 -30.45 -2.45 131.08
C:50~100m3 1,595.90 156.36 -30.45 -2.45 125.91
KIRH R D:100~200m3 2,021.90 152.10 -30.45 -2.45 121.65
GI E:200~350m3 3,423.90 145.09 -30.45 -2.45 114.64 2,545 4.260 7197 15,598
F:350~500m3 3,738.90 144.19 -30.45 -2.45 113.74
G:500~1000m3 6,818.90 138.03 -30.45 -2.45 107.58
H:1000m3~ 7,138.90 137.71 -30.45 -2.45 107.26
A:0~20m3 745.20 206.70 -28.87 -2.45 177.83
B:20~50m3 1,560.00 165.96 -28.87 -2.45 137.09
RIHHR C:50~100m3 1,800.00 161.16 -28.87 -2.45 132.29
GI D:100~250m3 2,040.00 158.76 -28.87 -2.45 129.89 2,731 4617 7,688 16,536
E:250~500m3 2,600.00 156.52 -28.87 -2.45 127.65
F:500m3~ 6,980.00 147.76 -28.87 -2.45 118.89
A:0~15m3 896.40 242.06 -30.62 -2.53 211.44
FEERH R B:15~30m3 1,112.40 227.66 -30.62 -2.53 197.04
GI C:30~100m3 1,533.60 213.62 -30.62 -2.53 183.00 3.265 5.506 9.714 21,887
D:100m3~ 2,127.60 207.68 -30.62 -2.53 177.06
A:0~25m3 739.80 249.5854 0.0000 -4.8101 249.5854
BAAR B:25~150m3 2,301.48 187.1233 0.0000 -4.8266 187.1233 3,460 6,181 10,460 22,698
C:150m3~ 6,923.88 156.3100 0.0000 —-4.8275 156.3100
K552 A:0~20m3 739.80 240.71 -17.57 -2.06 223.14
g]]l B:20~245m3 1,090.80 223.11 -17.57 -2.06 205.54 3,172 5572 10,052 23,495
C:245m3~ 4,769.28 208.10 -17.57 -2.06 190.53
AR A:0~25m3 896.40 301.55 -37.93 -2.76 263.62
anIV B:25~250m3 1,360.80 282.99 -37.93 -2.76 245.06 3,770 6,643 12,045 28,072
C:250m3~ 6,998.40 260.43 -37.93 -2.76 222.50
GE)ERE. KB, a8, A B K, BH:45MJI=10,750kcal Nm3, FEi&46MJ=11,000kcal”Nm3, LPFi Z24,000kcal.”Nm3
45MJ 46MJ
LP#A5m3 = —fEH ZX11.2m3 LP#A5m3 = —f%# X10.9m3
LPH X10m3 = — 85 222.3m3 LPH X10m3 = — g5 221.8m3
LPH X20m3 = —f& 5 R44.7m3 LPH X20m3 = —fi& 5 243.6m3
LP# A50m4 = — %A RA111.6m4 LP# 250m3 = —fH X109m3
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